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Geometry Local Lomac 2015-2016 Date3/14 dued/15 Congruence Review 10.6L

Name Per
LO: | can show congruence through a sequence of transformations or a Euclidean proof.

[]DONOW  On the back of this packet

[ ](1) Use the diagram and the given information to:

transparen

cies, dry (1) Write a Euclidean proof to show that two triangles are congruent.
ﬁ:;ffers, (2) Describe a sequence of transformations that will map one triangle onto the other
i;?i,‘iQSS, (a)Given: KN || LM, NM = KL Prove: the triangles are congruent
traighted
Zralg edg K L

N M

(b) Given: AD = BC,£ABD = +CDB Prove: the triangles are congruent

A
D C
(c) Given: OS bisects PR, OP || RS Prove: the triangles are congruent
R
Q




10.6L
C1(1) (d)Given: FJ = HJ; Prove: the triangles are congruent
G is the midpoint of FH
J
F G H

(e) Given: VW LTV, TU LTV,TW = UV Prove: the triangles are congruent
w

—]
1/

(9) Given: X is the midpt. of VY; XW || YZ, Prove: the triangles are congruent
LYXZ = 2XVW
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[ 1(1) []What about SSA for right triangles?

(h) Given: WX || YZ, £W and 2Z are right  Prove: the triangles are congruent
angles

(i) Given: PQ bisects SPT,SP = TP Prove: the triangles are congruent
F-‘

() Given: Given: AB = DC; AC = DB Prove: AABC = ADCB

A D
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(1)

Select the correct answer.

1) Ifyou are given two triangles, ALAX and ATVH,
where 2L = 2T and LA = TV, what additional
information would not be sufficient to prove ALAX =

2) Given PA || RT, PA = RT, R is the midpoint of PY.
Which theorem or postulate can be used to prove
APAR = ARAT?

ATVH? 4 T
A. ASA
A 2LA=21V B. HL
B.1LX=TH C. SSA P R Y
C. AX=VH D. SAS
D. X and £H are right angles
3) Given HL L OL, HL 1 LE,and20 = 2E. Which 4) Given SE bisects 2LEG and LE = EG, choose the
theorem or postulate can be used to prove AOHL = correct congruence statement. E
AELH?
0. L A.ALES = AESG
A.SSA B. ASLE = AGSE
B. SAS C.ASLE = AESG
C. ASA . D. AELS = AEGS 5
D. HL H L G

5) If you are given two triangles, AMNP and AQRS,
where MN = QR and NP = RS, what additional

information would be sufficient to prove ANPM =
ARSQ?

LR = /P
2§ and £P are right angles
MN = QS
LM = 20

SOowp

6) If AABC and ACBD are right triangles and AB = BC ,
what theorem or postulate proves AABD = ACBD?

B
HL
SAS
SSS
ASA
A C
D

onw »

7) IfHG = KG and £HG] = £KGJ, which congruence
postulate or theorem would prove AGHJ=AGKJ? ?

H
A.  SAS
B. SSS ’ ¢
C. HL
D. AAS K

8) Choose the correct congruency statement given the

triangles below.
I F
Pl G
K H

a. AHFG = AKIJ
b. AGHF = AKJ1
c. AGHF = AKIJ
d. AFGH = AK]JI




